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1. On an expedition, you walk 40 m due south and then
- 30 m due west. Determine how far and in what direction

- areyou from your starting point.
I e e A e O O O A B B B O

2. If a person walks 1 km north, 5 km west, 3 km south,

~and 7 km east, find the resultant displacement vector.
e e L e e L O e e e e O O e

3. A body moves over one fourth of a circular arc in a
~ circle of radius r. Find the magnitude of distance
~ travelled and displacement
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-~ 4. What is the displacement of the point of the wheel

~ initially in contact with the ground, when the wheel roles

~ forward half a revolution will be (radius of the wheel is
- R)?




